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SUMMATIVE ASSESSMENT - I (2011) 

Lakdfyr ijh{kk&I (2011)  
 

SCIENCE / foKku  

Class – X / & X 

 

 
 

Time allowed : 3 hours  Maximum Marks : 80 
fu/kkZfjr le; % 3 ?k.Vs vf/kdre vad % 80 

 

General Instructions : 
i). The question paper comprises of two sections, A and B.  You are to attempt both the sections. 
ii). All questions are compulsory. 
iii). There is no overall choice.  However, internal choice has been provided in all the three questions 

of five marks category.  Only one option in such questions is to be attempted. 
iv). All questions of section A and all questions of section B are to be attempted separately. 
v). Questions 1 to 4 in section A are one mark questions.  These are to be answered in one word or 

one sentence. 
vi). Questions 5 to 13 in section A are two marks questions.  These are to be answered in about 30 

words each. 
vii). Questions 14 to 22 in section A are three marks questions.  These are to be answered in about 50 

words each. 
viii). Questions 23 to 25 in section A are five marks questions.  These are to be answered in about 70 

words each. 
ix).  Questions 26 to 41 in section B are multiple choice questions based on practical skills.  Each 

question is a one mark question.  You are to select one most appropriate response out of the four 
provided to you. 

 
lkekU; funsZ”k % 

(i) bl iz”u i= dks nks Hkkxksa, Hkkx v vkSj Hkkx c esa ckaVk x;k gSA vkidks nksuksa Hkkxksa ds iz”uksa ds mRrj fy[kus gSaA 

(ii) lHkh iz”u vfuok;Z gSaA 

(iii) iwjs iz”u i= ij dksbZ p;u izkIr ugha gS ijUrq ikap&ikap vadks ds rhu iz”uksa esa Hkhrjh p;u fn;k x;k gSA bu iz”uksa esa vki 

dsoy ,d Hkhrjh p;u dks mRrj fy[kus ds fy, pqu ldrs gSaA 

(iv) vkidks Hkkx v vkSj Hkkx c ds lHkh iz”uksa ds mRrj i`Fkd&ìFkd fy[kus gksaxsA 

(v) Hkkx v ds iz”u la[;k 1 ls 4 ds iz”u ,d&,d vad ds gSaaA buds mRrj ,d “kCn vFkok ,d okD; esa nsaA 

(vi) Hkkx v ds iz”u la[;k 5 ls 13 ds iz”u nks&nks vadksa ds gSaA buds mRrj yxHkx 30&30 “kCnksa esa nsus gSaA 

(vii) Hkkx v ds iz”u la[;k 14 ls 22 ds iz”u rhu&rhu vadksa ds gSaA buds mRrj yxHkx 50&50 “kCnksa esa nsus gSaA 

(viii) Hkkx v ds iz”u la[;k 23 ls 25 ds iz”u ikap&ikap vadksa ds gSaA buds mRrj yxHkx 70 “kCnksa esa nsus gSaA 
(ix) Hkkx c ds iz”u la[;k 26 ls 41 ds iz”u iz;ksxkRed dkS”ky ij vk/kkfjr cgqfodYih iz”u gSaA izR;sd iz”u ,d vad dk gSA 

fn, x;s pkj fodYiksa esa ls vkidks dsoy ,d lcls mi;qDr fodYi pquuk gSA 
 

 
 SECTION-A / ' ' 
  
1. State the chemical change that takes place when lime stone is heated strongly. 

570045 
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2. Why do silver articles become black after some time when exposed to air ? 

 

  
3. Name the device which directly converts solar energy into electrical energy. 

 

  
4. State the meaning of the following symbols in a circuit diagram. 

(i)   (ii)  

 

(i)   (ii)  
  

5. What are amphoteric oxides ?  Choose the amphoteric oxides amongst the following 

oxides. 

Na2O, ZnO, Al2O3, CO2, H2O 

 

Na2O, ZnO, Al2O3, CO2, H2O 

  
6. What are antacids ?  Name two compounds which are used as antacids. 

 

  
7. A small amount of ferrous sulphate crystals were heated in a  hard glass test tube ? 

 (i) Write the equations involved in the above reaction 

(ii) Name the type of reaction that takes/ place ? 

(i)  

(ii)  
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8. A white salt on heating decomposes to give brown fumes and a residue is left behind.  

(i)       Name the salt. 

(ii)     Write the equation for the decomposition reaction. 

 

(i)       

(ii)      

  
9. What are the final products produced after digestion of carbohydrates and proteins ? 

 

  
10. Out of two solar cookers one was covered by a plane glass slab and the other was left open. 

Which of two solar cookers will be more efficient and why ? 

 

  
11. In the circuit diagram shown, the two resistance wires A and B are of same area of cross 

section and same material, but A is longer than B.  Which ammeter A1 or A2 will indicate 

higher reading for current?  Give reason. 

 

A B

A B A1 A2
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12. 
How does the strength of the Magnetic field at the centre of a circular coil of a wire depend on : 

 (a) radius of the coil   (b) number of turns in the coil 

 

 (a)             (b)  

  
13. State Ohm’s law and write the condition in which this law is obeyed ? 

 

  
14. (a) What happens when quick lime is added to water ? 

(b) Write chemical equation for the above reaction. 

(c) Which type of reaction is this? 

(a)  

(b)  

(c)  

  
15. 

Write the chemical name and formula of washing soda.  How is it prepared?  Write balanced 

chemical equation of the reaction. 

 

  
16. (a) How sodium hydroxide is prepared from sodium chloride ?  

 (b) What will be the pH of the following salts. 

 (i)  salt made of strong acid and strong base.  

 (ii)  salt made of strong acid and weak base.  

(a) 

(b) pH 

(i)

(ii)  

  
17. List the names of hormones secreted by the following endocrine glands and mention their  
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functions. 

(i) Thyroid gland  (ii) Pituitary gland  (iii) Adrenal gland 

(i) (ii) (iii)  

  
18. What are phytohormones ? Name any two phytohormones along with one fucntion of 

each. 

 

  
19. 

(a) “The breathing cycle is rhythmic whereas, exchange of gases is a continuous 

process”. Justify this statement. 

(b) What happens if conducting tubes of circulatory system develops a leak ?  State in 

brief, how could this be avoided ? 

(c) How opening and closing of stomata takes place ?

(a) 

 

(b)   

(c)  

  
20. Determine the ratio of the (a) highest (b) lowest resistance that can be secured by combining 

four coils of resistance 4 , 8 , 12 , and 24 in an electric circuit. 

4 , 8 , 12 , 24   (a) 

(b)  

  
21. An electric bulb draws a current of 0.8A from 250 V mains.  The bulb is used on an average 8 

hours a day,  If energy costs Rs 3 per kWh, calculate the monthly bill for 30 days.  

250 V  0.8A 

8 1 kWh  3  30 

 

  
22. What is the function of an earth wire ?  Why is it to necessary to earth metallic appliances ? 

 

  
23. (i) What causes rusting of iron ? Design an activity to show the conditions needed 

 for iron nails to rust. 
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(ii) Why do we paint iron articles ?  

(i) 

(ii)  

 OR 
 Pieces of four metals A,B,C and D were one by one added to four solutions, namely iron (II) 

sulphate, copper (II) sulphate, zinc sulphate and silver nitrate  The observations made are 

tabulated below. 

 

Answer the following questions based on the above information. 

(i) Which is the most active metal and why ? 

(ii) What would be observed if B is added to a solution of copper sulphate and  why ? 

(iii) Arrange the metals A,B,C and D in order of increasing reactivity. 

(iv) Container of which metal can be used to store both zinc sulphate solution and 

 silver nitrate solution ? 

 (v) Which of the above solutions can be safely stored in a container made up of  any of these metals 

? 

A, B, C  D 

(ii) (ii) 

(II) (II) 

A 

B 

C 

Metal Iron (II) sulphate Copper (II) Sulphate Zinc sulphate Silver nitrate

A No reaction Displacement

B Displacement No reaction

C No reaction No reaction No reaction Displacement

D No reaction No reaction No reaction No reaction
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D 

 

 (i)  

 (ii) B  

 (iii) A, B, C  D  

 (iv) 

 

(v)  

  
24. (a) Draw neat diagram of respiratory system and label the following parts. 

 (i) lungs, 

 (ii) trachea, 

 (iii) bronchus, 

 (iv) diaphragm, 

(b) Name the respiratory pigment in human beings and discuss its role. 

(c) Why is the rate of breathing in aquatic organisms much faster than that in terrestrial organisms 

? 

(a)

(i)

(ii)

(iii)

(iv)

(b)

(c)   

 OR 
 (a) Draw the diagram of human heart and label the following parts which  

 (i) receives deoxygenated blood from vena cava, 
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 (ii) send deoxygenated blood to lung through pulmonary artery, 

 (iii) receives oxygenated blood from lungs and 

 (iv) sends oxygenated blood to all parts of the body through aorta. 

(b) What does the blood consist of ? 

(c) Write two functions of blood. 

(a)

(i)

(ii)

(iii)

(iv)

(b)

(c)  

  
25. (i) Two circular coils P and Q are kept close to each other, of which  coil P carries a current.  

If coil P is moved towards Q, will some current be induced in coil Q ?  Give reason for 

your answer and name the phenomenon involved. 

 (ii) What happens if coil P is  moved away from Q ? 

 (iii) State any two methods of inducing current in a coil.

 (i)  P  Q  P 

P  Q  Q 

 

 (ii)  P  Q  

 (iii)  

 OR 
 (i) With the help of an activity, explain the method of inducing electric current in a coil with 

a moving magnet.  State the rule used to find the direction of electric current thus 

generated in the coil. 

(ii) Two circular coils P and Q are kept close to each other, of which coil P carries a current.  

What will you observe in Q ? 

 (a) If current in the coil P is changed ? 

 (b) If both the coils are moved in the same direction with the same speed ?   Give 
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 reason.

 (i) 

 

(ii)  P  Q  P 

 

 (a) P  

 (b)     

  
 

SECTION –B / ' ' 
  

26. A student tested the pH of distilled water and found that the colour of the pH paper 

changed to green.  He checked the pH again after dissolving a pinch of common salt in it.  

The colour of the pH paper this time would be : 

(a) Green  (b) Yellow  (c) Red  (d) Blue 

pH pH

pH pH

(a)  (b)   (c)   (d)  

  
27. Two solutions A and B were found to have pH value of 6 and 8 respectively. The  

inference which can be drawn is : 

(a) The stength of solution B is higher than that of A. 

(b) A is an acid while B is base. 

(c) both are acidic solutions. 

(d) both are basic solutions. 

A  B pH 6  8  

(a) B A  

(b) A B  

(c)  

Visit www.ncerthelp.com For All NCERT Solutions, 
CSBE Sample papers, Question, papers, Notes For Class 6 to 12 

Please Visit www.ncerhelp.com For All Videos Lectures of all Subjects 6 to 12 



Page 10 of 18 
 

(d)  

  
28. Which of the following chemical properties are shown by dilute hydrochloric acid ? 

(i) It turns blue litmus red 

(ii) It turns red litmus blue 

(iii) It reacts with zinc and a gas is evolved 

(iv) It reacts with solid sodium carbonate to give brisk effervescence 

(a) (i) and (ii) only 

(b) (i) and (iii) only 

(c) (i), (iii) and (iv) only 

(d) (ii), (iii) and (iv) only 

 

(i)  

(ii)  

(iii)  

(iv)  

(a) (i)  (ii) 

(b) (i)  (iii) 

(c) (i), (iii)  (iv) 

(d) (ii), (iii)  (iv) 

  
29. While doing an experiment a student observed that the blue colour of the aqueous 

copper sulphate solution was changed to pale green by immersing a metal rod in it.  The 

metal of the rod used by the student is : 

(a) iron   (b) zinc   (c) silver   (b) aluminium 
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(a) (b) (c) (d)  

  
30. 

Iron filings were added to a solution of copper sulphate.  After 10 minutes, it was 

observed that the blue colour of the solution has changed and a layer has deposited on 

iron filings. Which one of the following set of colours correspond to the colour of the 

solution and the colour of the coating respectively ?   

(a) Yellow and green.  

(b) Brown and blue.  

(c) Red and greenish blue.  

(d) Light green and reddish brown. 

10

(a) (b) 

(c) (d)  

  
31. A student has connected three voltmeter across three resistances R1, R2 and R3 as shown 

in the circuit.  Given that R1< R2 <R3, write V1, V2, V3 in decreasing order of the readings 

shown by each of them. 

 

         (a)  V1,  V2,  V3,  (b)  V3,  V2,  V1,  

         (c)  V1,  V3,  V2, (d)  V2,  V1,  V3, 

R1, R2  R3 

R1< R2 <R3 V1, V2, V3 
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      (a)  V1,  V2,  V3,  (b)  V3,  V2,  V1,  

     (c)  V1,  V3,  V2, (d)  V2,  V1,  V3, 

  
32. 

A student connects a circuit to study Ohm’s law using a resistor of  

3 ohm and a battery eliminator of 6 V. Which of the ammeter should be chosen to read 

the value of current for this circuit, if the ammeters available in the laboratory have the 

following ranges?  

(a)  0  200 m A     (b)  0  100 mA   

(c)  0  1 A      (d)  0  2 A  

3 6 V

 

(a)  0  200 m A     (b)  0  100 mA   

(c)  0  1 A      (d)  0  2 A 

  
33. 

While performing the experiment of Ohm’s law, a student has plotted the following 

graph. The resistance of the conductor will be : 

 

      (a)  1000   (b)  10  (c)  100  (d)  1 
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(a)  1000   (b)  10  (c)  100   (d)  1  

  
34. Two students (A) and (B) connects their two given resistors R1 and R2 in the manners shown in 

figure: 

               

Student A connects the terminals marked (b1) and (c1) while student B connects the terminal 

marked (d2) and (c2) in their respective circuit at the point marked X and Y shown in figure. 

Which one is the correct statement for the two arrangements ? 

 

(a) Both the students will determine the equivalent resistance of the series combination of the 
two resistors. 

(b) Both the students will determine the equivalent resistance of the parallel combination of 
the two resistors. 

(c) Student (A) will determine the equivalent resistance of the series combination while 
student (B) will determine the equivalent resistance of the parallel combination of the two 
resistors. 

(d) Student (A) will determine the equivalent resistance of the parallel combination while 

student (B) will determine the equivalent resistance of the series combination of the two 

resistors. 

 

(A)  (B)  R1  R2 

            

 A  (b1)  (c1) X  Y  B 

 (d2)  (c2) X  Y 
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     (a)           

     (b)           

     (c)          (A)  (B)  

     (d)           (A)  (B) 

  
35. In the experiment to determine equivalent resistance of two resistors R1 and R2 in series, 

which of the circuit diagrams show the correct way of connecting the voltmeter ? 

 

(a) I and II  (b) II and III  (c) I and III (d) II and IV 

 R1  R2 
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(a) I II  (b) II III  (c) I III (d) II IV 

  
36. In an experiment to show that sunlight is necessary for photosynthesis, the leaf is boiled in 

alcohol for a few minutes using a water-bath.  It is essential to use water-bath because : 

(a) alcohol is highly volatile. 

(b) steam from the water bath heats the leaf rapidly. 

(c) steam from the water bath dissolve the chlorophyll. 

(d) alcohol is inflammable. 

  

(a)   

(b)  

(c) 

(d)  

  
37. The best result for the experiment that light is necessary for photosynthesis would be 

yielded by using leaves from a plant that was initially kept for over twenty four hours: 

 (a) in a pitch dark room. 

 (b) in a dark room with table lamp switched on. 

 (c) outside in the garden. 
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 (d) outside in the garden covered by glass case. 

 24  

 (a)  

 (b)  

 (c)  

 (d)  

  
38. A well stained leaf peel preparation when focussed under high power of the microscope 

would, show : 

(a) epidermal cells, stomata, guard cells each with one nucleus and many chloroplasts 

(b) epidermal cells, stomata, guard cell with many nuclei and one chloroplast cell  

(c) stomata, and guard cells without nuclei or chloroplasts 

(d) stomata, but no guard cells or epidermal cells. 

 

(a)  

(b)  

(c)  

(d)  

  
39. A student draws the following sketch of stomatal apparatus. The parts I,II,III and IV are 

labelled differently by four students : 
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 The correct labelling out of the following is  

 (a) I Guard cell     II stoma 

  III starch granule    IV nucleus   

 (b) I Cytoplasm     II nucleus  

  III stoma     IV chloroplast 

 (c) I Guard cell     II starch granule 

  III Nucleus     IV stoma 

 (d) I cytoplasm     II chloroplast 

  III stoma     IV nucleus 

 I, II, III  IV 

 

 

 (a) I      II  

  III      IV  

 (b) I      II 

 III       IV  

 (c) I      II  

  III       IV  

 (d) I      II  

  III      IV  

  
40. In the experiment demonstrating  respiration in germinating seeds, the water rises in the 
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delivery tube due to 

(a) seeds use up oxygen in the flask. 

(b) CO2 is given out by germinating seeds. 

(c) germinating seeds suck the water from the beaker. 

(d) a partial vacuum is created as CO2 is absorbed by KOH. 

 

(a)  

(b) CO2  

(c) 

(d) KOH CO2  

  
41. The correct set of three precautions for setting up the experiment to demonstrate that 

CO2 is evolved during respiration is : 

(a) Thread holding KOH test tube, Airtight flask, delivery tube above water surface in 

the beaker 

(b) Flask has just germinated seeds, Airtight set up, delivery tube dip in water in 

beaker. 

(c) Flask has seeds covered with water, Airtight set up, KOH test tube held by a thick 

wire. 

(d) Just germinated seeds under water in the flask, delivery tube above water level, Thread 

holding KOH test tube.

CO2 

 

(a) KOH  

(b)  

(c) KOH  

(d) KOH 
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